
����������	��	���
�������
����������	����������������

����������	�	���	����
����	����������������������

�
�����������	
��

�

��� !���"��#��$ !%�"�� &��#'"��(�!)�#(���*++��

,�-../�

�

"���'�����	������������0���	��������������
����	���1/�

� � ��������/�+�


����������2����3�4�	51���6����	��
��������0�������
����
������
	��7����������������	���

���������	����������	�����	���	��	�1�

� � $1�1�"���	���2���������	���!������5��3�

�

�1��� �%#&"8#�


����������
�������������6��������
�����
	���
����9�
������������������������������

�����	������������������	���4����	���	�	���	���	������	5����7��������
�5��������0������	���

�������������������������������������������������

/
������������	����	����������
������������������	
������
�����4/://7�42"���'�����	���

���� ������ 0�� �	����� ���� ������
��� �	���37� ���
���� ��� ����� �����������
��
����
��

��

������4/;</7�42�����'�����	���=����������0���	���>?�����������
����	���371�������	�	����

@�0��
� ��A�� 5����	��� ��� ���5����	��� ���� B�����	��� ���6�� ��� �	��	��� �� ��0���	�����

5������4���������	�������������������	B�����������������������������������	��7?�����������


����=����>�C�����	����	���������B����	��	���C�����������������	��������	�	�����
�����

�	A*
������	�����*�����0��*���������5���������������5���	���������������������1��������

�	��	�	����� ��	�� ����	�	��� 	�� �5������� 5������ ��� ���� �
6
���� ��������	��� 
	��� 
�	5��

������������

���

���
�����4/D;D7������������42"���'�����	����=�����	����0�?>������	����

	�137�(�������� ������������
�
����
����
����� 4/;<D7����� ������ �������
��

����
�����

4/;�-7�42"���'�����	���=����������0���	���>?�����������
����	���371�



�

E����F�=����������	��	���
�������
���>�,�

-�

���� �����G��� �55���	��� ��� ���5�	����� �	���	��	5� ��������� ���������� 0�� ��	���������� ���

�������������0�� �	���	�����
�	������������ 	��5������9���	���������5�����	�������
	������

5��	������A�����	�����������������������	����������5���������5������5��������	��������������

������ 	�����5�	��� ��������� �����	���� �	��	�	5���� 	�� ������ ���5�	5�� ���� �������� ������	5��

�����������	����	���� ���� ���������	�	��1� ���� �A������� �	�5������ ���� ������	���� ���

	���	���	����	G�������5�����������
�������������	���	��	5�����	0�����
	����	�����������������

�������	5�����GG���1�

������ ���� �������� B����	���� ���������� ����������� 	�� �	�������� ��	���� ��� ��	�6���� ���

���	������������������	�������3��@�����	5�	�5���	�����������������������	0�	5���������	���1�

@���	���� ��������� ���	���� ����� 5������� ���� �	������ ������� ����� ������������ 	��� 
�	5��

����	�������������������������������	������0��	����	��	�B�	��1�

�

�1� %@#� %�8��!�%#�%#(#��"�� ���( �#��%#�����"%�#(��

(�5�������H�I������	�	�������6������������6��
��������������������0����
����	���	�������

����111����5�����������
����������	���	����	��
����������������������0������5�����	5�?�����

�������������	��5���	5�	��111��������	�������������**�����������0�0	�	�������������	56�

������	��	��������6	����������5�?�����
�������5����������������������6	����	���	��

5���	�������������5�������	����	�5	���1��

���������������	��
����������
���5��	�����0����������������������	5��5������������(�5�����1�

�������"#
��
���

�

�������� ��������� 	������5������� �����	��� C� ���
���� ��� ���	�	5����� ������� ������������

����������� C� ������5�� ��� ��������� 	�� ���� 5����	5���
�����
��� ���� ������	5��� �����	����

������� 0�� ��5�� ����	��0��� ����	���� ��� '���	��� ���� ����������1-� "55���	��� ��� ��	��

�������������������������������������������������

-
� "�� ���� ������� ���� �����
� ������ ��� =������	5��� �����	��>� ��������� ����� ����� 0��

���	�������� 0�5����� =������	5>� ���� 5���� ��� ����� ����� �	�������� ��	���� ��� �	��������

������1�������������
����������	����������������������5��	B������������5�	�����������	���

��5	��� ���������� ��	���	��� �������� �������	���� ��� ��������3�� �0	�	��� ��� ������ ��� ��



�

E����F�=����������	��	���
�������
���>�,�

+�

�����	����������������������5�������������������5�	���	����5	���	�����5�	����C�����0���

	�� ���	�	5�� ���� 	�� �	�	���	��� C� 	�� �������	��� ��������� 4=������	5>� 	�� ����� ����
����

�����
���	����	������������������6�������6	��������5	�����	��71����������	����������5������

0�� �����������	������ ��� (�5������ 4���� ��5�� ������� "B�	����� ��	0�	�G� ���� ���� ������


	��������	�7��������������
���3�������	���������������������	���������*�	���	��	5���	����

C���5�
� 	���������
���������	���������������	��C� 	���	��������� ������	����0������	���

��������1� %������� ���� ����� ��� ��������� 	�� ����� ������	�����	��� �������� ��� �5�� 	��
����

5������	��� 
	��� ���� ����6��3�� 	��������1� "� �	���	��	5� 	�����5�	��� 	�� �	���� ���� ���������

���	�����	���� ���� ���� ���� ����� C� 5�����	��� ������������6	���������� ������� ���������	���

��5��� 4��� ������*��*����	������
������������7�������0�� 	����������� 	���	�
���� ������������

��	�5	���1�'���	����	����������6���	5�	������������	����	5��5��	��������������	��
�����C�0��

�55	�����C�����0����5����������=�����>�
��5���������5������	�����������������������������

���5�������5��0���0�5����������������3��	�������������5��	����	�����������	��������	���

�A���*�	���	��	51� ��� ������
������ 0������ ���� ����� 5��������	�	5��� ���� ������	������ ��5	����

�������	�����	���
	��	�� 	�� �������� ���������������� 	���������������
��������A��5	������

����
	��1�
�������������
	������������	��	���5	��������������5��	��5����	��
����C���5�����

�	���
	������� 	������0����� ����� 	�����3�� ��������0������3��5�����������51���	�� 	��������

5��	5��� �	�
�� 0�5����� 	�� ����� ���� �����
� ����� ��������� ���B�������� ��� 5	�	5� �	������

0�5����� ���� ������	5��� 5���5	��� ��� ����5�	����� ������� ��������� ��� 5	�	5� �	����1� '���	���

5����� ����� �	���� ��� ��� �A������ ��� ����5�	��� ���	�����	��� ��� �������	��� ��������� ����

������ ���	*����	��� �	������� (�5������� �� 5���������� ���������� ��� ���� �������	��� �����

���B�����	���	�������	��0��������������	�������=������>1�����������5��	������������	�����

���� ��� 	�������� ��������5�� ��� ���� ���*�	���	��	5���������	5�� ���� 	��� ���� 	�� ����������

	��������������������5��5�������6��
��������A5����������������������	5�	�����1�

�������������������������������������������������������������������������������������������������������������������������������������������������

���	�����	��������1������0�������������	���������	�5�������������5	����	������0J�5�	������

5����5�������������
��6��������	�����������5�	��1�"����5��	��5��	��������6�������0����

�����������	����	����������	�	5�1�
�	��������
�������������	���	��0����	�6������	��������

�������� ���� �����	�� ���������
��������1�&	�����/�40���
���1�-:7�5���	�	��� ���������	����

0��
����������	5�������������	����������������	�	���������������������1��



�

E����F�=����������	��	���
�������
���>�,�

K�

��� ���� �	����*�	����� ����� ���� ����������	��� ��� ��������� ��� ������	5�� 
��� ���� 0���

�	���	����C�������5������	5�������5��C�0�����������	��	5������	����
�	5�����	������������5��

C����������������	0���C������������	���	��������������=�������>�� 	�5���	�������������	���

���� ���� ������� 
�	5�� ���	����� ��	�������� 5���	������ ���� ��� �������� �	���� ��� ��5	���

5������5�	������5������	����0�����	���	�������������������5�����������������	���������	�	���

���	�	��1� ����� �55���	��� ����������"B�	���3����������������
��#�������
� ������ ���

��
������
��

����5��	�����������
�����������������������������	5���
��������������0����

6	��������������������	�	�������5�1�������������0���	�5�������������������5��������	��������

�������������������
�����	�	�����	�	��������������5������5���1
+
���
�	�������0������
���0���

�0���� J���	5�� ���� ���� 5������ ������ ���� ��������� C� ��� ����� 0�� 5����5�� ���	�	5���

	���	���	���� C� 	�� ���� ���� ����5�	����� �����	��� ���� ��������	��� ������ ��������	5���

�0����5�	����	����5	�	5��������	�	5������5�	5�1��������5������������5�����	�������������	��������

����������	������������������������������	����������	�����	������������3��5��5���	���C�	����	��

5�����������	�	���������������
�C������
���������������	����������������������
�40�	���

	������ ����� ��0���� ��� ���� �������� ��
� ����� 	�� ��0J�5�� ���� ���	��0��� ��� ���	����� 	�B�	��71�

��������������"B�	���3�J��	�������5������������������5���	����5	��������5������5�	��������

	�������	G	���5����A������������������0	����	�����������������
������������C�0��
�������

5����	���	���� ������	���	���� ���� ����	5��	��� C� ��� ��5����� 5���	����5	��1� &��� 	�����5���

����� �������� ��
3�� ���5�	��� ��� ���� ���5�	��� ��� �	��� 
�� 	����� ����� ������� ����� ���� 0��

�A������ �����������G������0���
������� ��	�� ��B�	���� ����������	������	�����������	������

���� ����� ��� ���� ������ 	�� �� B����	��� ��� 	������5�� 5��� ���
��1� (�5�� �5�	��� ����� 0��

5����	������ C� ����� 	�� 
���� ��������� ���� ���� �������	��3�� ���5	�	5� 5������1K� "��� 
�	���

J���	5��� ��������� ��B�	���� ����� �	�	������ 0�� �������� �	����� ��� �������� 	�� ���� �	����� ��� ����

�������������������������������������������������

+
�(����������"B�	�����2�����	��������
3��	�������
��#�������
�����G	��������1����
�

E��6��/;K<��(��LL1�;.*;�1�

K
���������	����������=5����	���	���	�������>�����	�������	�����������$������%�G�	������	���

��������� �� =���	����� ������� ��� ������	��>�� 
����� =�A����	��>� ���� 5����	���	��� ���� ����



�

E����F�=����������	��	���
�������
���>�,�

��

5��5���	��������A�5��������������������������	���C���B����	������������	���	���C����������

	�� �������� ����� �	5����� �� 5����A����� =����	�� ��� �������0������>�� 	������� ������� ��� ���

�B�	�	0�	���������������5�	���	���������������	�
��������
���$����
�
1�

@�
������ 5��� ��������� 0�� �������� ��� ����	��� 	��� �����������	����� ���5�	��9� ����

%���	����5�3��&���5	����5�����	����������������������A�����	�������3�������
�������B�	�����

����� ��� ���	5��� ���	�	5��	��� 	�� ������ ��� ��55���1� ����� ����� �� ������ ��� ����������	����

��������� 
��� ��� 	����	������ 	�� 	������� 	��� �
�� 5�������� 0	������ ��5�0������ ����

�B�	��5��� ���������������	������ ����
����*�	�
� 	�� ��������� ����� ��	��� ����
����� ����

�0�5����� ���� ���5���	��1�M����
����� ������ ����6���� ��	��������	5��� =5������	��>�
�	5��

������5��������5����	���	�������������������������0�����5��������������	���5	��5�������=����

	���������������6��>������������������*���	�	��������������	��������������	���	������5������

�����5������������������������	�������5�����	5��	��1
�
��

����	��� �� ����� �	����	5��� �	����5�� ���� ���������0��� �������6	�����5�� ���
����
��

����� 0�� 4��5�� ��� (�	��G�3�� ���� ��� ����	*�������� ������	5�� �	������������� 5�����	���

����	���� ��� �	�������� ������� ��� �������� ���� ��� ���� ����	������� ���� ��	0�	�G3��

�������������������������������������������������������������������������������������������������������������������������������������������������

0����� ���� J���	��	��� ���� ����	5���������� ��� ����5�� ����� 	�� ��5������ ��� ������	��1� (��� $�

%�G��2"�����	������
����������	��3��:D�%������4/;D�7�-;�1�

�
� =������ ���� ����� 	����� ������� 0�� ���� ��5	���5��� 	����5������ ���� ��5	���� �������
	���

�����
�	5��
�� 5���� 	����� ��� �������6���� ����� ���� 5�����5�� ���� ����5	��	��� �������


	�����5�������1�&�������5��������0�������������������?�0���
�����������������������


	��� ��� ���� �������	��?� ���� ������ ��	���� ����� �� 0��� ���� ������ ������	��� ��� 
����� ��


��������� �0����5�	��� ��� ���� �	��1� ���� 5��� ���� ���	�	�	���� ���� �A������	����� 
	���


�	5������������������
����������������������5�������������	�������	�����5�������������

5����������������
�������	������	����������5����������������	��������
���������	���	����

5�����	����������������6	���	������	������	�������0���5���������	������������5	��1>�&�

��5������ ���&
�
����� A�����!�	����	���������� A������/D���4/:-.71���5����������

��� ����	��������� �����������	����	��� ����� 	���5�����	������5�������� ������0��
��������

���	�	5��	��������������������=	���5�	��>�4
�	5����������	���������
	�������5������



�

E����F�=����������	��	���
�������
���>�,�

:�

'#


���
�����
� (�� �
�
���� 
�	5�� ���������� ��� ���	������ �� �����5�� �����������	�����

��������� ���� �� =5��5����� ��� �����>7�
�� 5���� ��������
	��� �����������	����	��� ��� 	�� 	��

5����������0�����������	���B����	��������
��1�&�	���	5���	��G�5����������)
�����

��������


���������	�����������������������	��������4���=���5������>���������	���
����������	��7�

�55���	������
�	5������=
	��������
��>�	�������������������������	5�����5����������������

	�����	����������	����������	5���������
	��3����5���	�������5��	������5	���
����������A��5	���

��
��� ����� ������1
:
� #���� 
���� �����������	������ �	��G�5��� ��
� ��������� ��� 5����������

5������5����������0J�5�����������	5������1����������������
��	����5����5����5��5��������

����	���*���*����	������ 	�������� ����� �������� ��� 5����	�	5��	����
<
� ���� 5�����	5��	��1

D
�

8����	�	5��	������	��G�5���������������0�������	�	5	��������	���6���C�0���������0	�����������

������������5�����������������5�	5������������5������	��	���	��	�����5����������	0������	5����

����� ��	������� ����1� "�� ��5�� ���� �
��#� ��� 5����	�	5��	���� 	�� 	����������� 	������ 	�������

���	5����� 0�� 	������1� ��������� 	�� ���� �0���� 5����5���� ���������	��� ����
����� 0��� �0����

���	��������������	���������5�	���4	������=������������������>��������������
	��������
����

5�������� ��� 0���� ��	�	���	��	���� 8��	��	��	���� � ���� 	��� ��5����� ���������� ��� ���������	5���

������5���� ��� ���	5�71� ��	�� ���	�	��� ������� ����� 0�� �	��	���	����� ����� �������	����

0�5����� �	��G�5��� ��������� ���� ���	��5�� ��� ���� ��������5�� ����� �	���	��	5�

5����	�	5��	������������������
��6���������������
����5�������5���������5���1��

�������������������������������������������������������������������������������������������������������������������������������������������������

������� ���� ����71� �� �����	��������� ����B����� ���� ���������5�� �����������	����� ���������

����!�#5����#��"�
)�����
���
�������56
����� A������/;;�1�

:
��	��G�5������������������������	��������0���5���0���A��������	�����������0�5���������

���������	��	��	�	������
�	���������������������������5	���5�����	5��	������	5����������

�������������0�5��	������	����������	��	�	5�������	������1�������������������	��3�������

��� ��	�6� ����� �	�� �A�����	0��� �������
���� ���������1�8��	��� ��� ������ C� ��� ���� C�
	���

5������	5�����5��	���	�������������	5���5���	���
��������	����	��G�5��1�

<�&��	��G�5�����#���
*���������� �����1�
������M���������N	���������6�����
*E��6��

/;<K�4/D<-7��O+��1�

D
�����1�����O+�K1�



�

E����F�=����������	��	���
�������
���>�,�

<�

��� 	�� 	���	��	��� ��� �0������ 	�� �	��G�5��3�� �	�5���	��� ��� 5�����	5��	��� �� 5�����

���5������� ���	�	��� ��� ���� ������
	��������	�1� �����������	��G�5��� 5��	���� 	�� ��� 0�� �����

�	���� ���� ��������� ��� �� ��5	���� ��0�	5� ����������1� ��� ��������� ���� �	���� 	�� ���� ��5	���

������� 4��� �������� ��� ���� ��	����71� &��� ������ 	�� 	�� �����������	����� 	�� ����� 	�� ������� ���

5�����	5����5����������������?�0���5�����	5��	���	�������	�������5��	�������	�����������


	�������5��	������
�����C�	���������������5	���
���������5�	��1���������������	��������	5���

���� ���������	��� �	����� ���� �����������	����� ����� 	���������������
	��� �	����� 5��5���� ����

=�����>�������0J�5�����	�����	��������5�	���1�

�

���1��� �@#��%#*8%���8"��"'#��%#�%#(#��"�� �"��(������@#�

#"%�E�-.�@�8#��!%E�

"�	5�� ����� ����������� ��GG���1� ���� @�����3�� �����6� ������� ��� ����� ��� ����� ���

����	���	��	�����������	��
���5����	����#���	��1�

��
	��8��������"�	5��	��
����������

�

��� ����/;
��
�����-.

��
�5�����	���� �������	�	�	������� �������A	�������������������������

5�����������
	��	�����������������������������������	����������	��1���������������������5��

����5	������������5�0�����������5	����A������	�����	�����������������������������5������������

���	�	5	���� 5������5���� ����	��1�"��&��� ����-.
��
� 5������� ��*5������ =���	5������	�	�	���>�� ����

���0������������������	���0�5�����5���1��������������������������5	��5������������	5��	��

����	5���������������������������	��6��
���������	����	5���4�����	�����	�����	������������

=������	5��>7� ������	�	���� 5�����	��� ���	�	5����*���	�	�0��� 4��� ������� ����	�	�0��7�

�������	�	��� �0���� ������ ����5��� ��� ���� 
����� ����� ���� 0�� ����� �����������1� (�5�� ���

������5�� 	���	��0��� 5�������� ������� ���� B����	���� ��
� 	�� �����������	��� **� ���� �����

=�����5�������������	��>�**�����	0��������
������������5���	�	��������	�9���	��B����	���
���

���������������������	�	�	���������5�����	��
�����������������
	��������	���
������
�����

	������	��5��������4���������	����7����	���5�	���	�������%"8�"�!(�� '�8 *�@�� ( �@�8!(�


�������������������������������	�
������=�	5�����>��������	���������������5���������������



�

E����F�=����������	��	���
�������
���>�,�

D�

������	����=���
�>�	�������	��1�@��5���
	��������	��
������="�������	�	���	�����	5��������

����	��1� "� ������	�	��� 	�� �������� ��� ����	��� ���
�� ��	�6� 	�� ��� 0�>1
;
� ��� ������ ������5���


	��������	�� �������� 5����� �A���	����
�����6���������������������5��� ����������������

��5���������� ���� ������ ����� ����� 4����� �� �	�������� ������5��� ��	�� ���0���� 
��� ������

�������� 0�� 8����6�3�� ������� ��� �������	��� �������71
/.
� �	6�
	���� ������5��� ���

������	�	���� 5������ 0�� �A���	����� 0�5����� ������ �A������	���������� ����� ������ ��������

������5������������	�	��?� �����5��������0��=���
�>1� 4
	��������	�3����	����'1�#1�������

��5������ ��
��
����
	��������	��
��� �� ����	��� 	�� ����5������� ����&	����
�����
���� ���

5��������������������G	��������5����	�������	��������	����������������������5����55	�����*

*��� ��5��C������	�	��� ����� ��
��	�1� ����55������ ���
	��������	�� ����� 	��������������������

������	�	��� ������������ ��� =�	5�����>�� 	�� ���� ��5�0������ ��� ���� �%"8�"�!(�� ������*��*

����	��17��

���� =�	5����� ������>� ��������� �����������	����	��� ��� 	��� ��	���1� ��������	������ �����


	��������	�3�� 	�5�	���	��� ��
���� ��	��������	5��� 	����	��� �A�������� 0�� �	5������

�����	�	��������������
�����=���	��	�>�0���=���
����	�6�	�����0��>�
�����=��	�6>����������6��

�������
	����������������������0���**�	��5�����������)��5������C�	����5����5�	����������������

������� ����� �����������	5� �	������1�
�����������������
	�����	�����������	��5����������

�������������������������������������������������

;
���
	��������	����

��
����������+"#�����,#�����������1�'�#���"��5��0���%���������

���� M����� ������ �������� /;--� 4���5������� ���@7� OK1.+/?� ���� ����� OO-1/*-1/�/-��

-1/�/+*+1./�� +1K-�� K1./*K1./-�� K1.-/�� K1.+*K1.+-�� K1.:�� K1K:-*+�� �1/�:��:1+K/*-�� :1+�1�


	��������	��� ��� 5������� ���� ������ 5���� ��� 5������ �	�� �	��� ��� ���� ������� ���

�����������	����	��1�����������0�5������������5�	�	5�����	������	����	�
��	������5	���	����

���� �	�5������ ��� �	���	��	5� ������� ���� ���	��� ���������� ���� ����� 	������������	����	5�

5����� ������� ���� ����	��� ��� ��������� ������ 
���� ��� 5��5�	�	��� �������	��1� ��	�� 	��

���������������C������	���������C���
�����������������	��������	��1�&���
	��������	�3��

�
����J�5�	���������������������	����	����������=�	5�����������>�4	�����������������������

���7� ���� �� 
	��������	��� "#�����,#��
�� �� �����
������� �����1� '� #� �� "��5��0���

���56
����� A������/;�+��OO�:��+<���;��//���/;/��-�/��-;���+�-��+<K��K.-��K--*<��K;.��

�/;*-.���<+������������/DK1�



�

E����F�=����������	��	���
�������
���>�,�

;�

����	��	��	������������������	G������������������	����	������������	�������	�������	�������

�	���	��	5�����������5���	�����������	����������
��������55�����������
�����=���	���������	�>��

�������	��������0����������	5���������	��������M����5������=������	���	��	�����>1�#����	��

���� �����	����� �������%"8�"�!(�
	��������	�� ����5�	����� ������ ��� ����� ��� ������*��*����	���

���� �55���	0��� ����� �	���	��	5������ ���� 
���� ���� �������� ��� ���	�	��� �5������ ���

�����������	��� 
	��� �������� ���� ����	0��� 6��
������ ��� ���� 
������ ��� ��� ������ ��� ������

5�����������������
���������������	������������������	���	�������	�������5�1��

���� ���	5��� ���	�	�	���� ���� ���� ��*5������ =N	�����8	�5��>�
���� �������� 	������5��� 0��

�����	5�����������1����������������������������	�	�	���������������������������	����
�	5��	��

��� ������� 	�� 	�� ����� 5��5���	��� �����
����1� %�	�����	��� "�	5�3�� 5��5����� ����� ��6���


�	5�������������������������������	�����������
�	5�����1����	�������	����5������������

������	�	����� ��� ������������ ��0J�5�� ��� ���� ��*5������ =���	�	�0	�	��� ��	�5	���>� ������ 	�� ��

���������� 5��	��� ����� ���� �� ������	�	��� ��� 0������	������ 	������� 0�� �	����� ������	5� 4	1�1�

��������	5����=����0����	�������>7�������	�	5��������	�	�0���4�������
�����������0��	������0��

������������	�	�0����=����0����	�����>71
//
�!�	������	�	�0	�	������������*������	5�5�	���	�������

�������������������������������������������������������������������������������������������������������������������������������������������������

/.�(�����8����6����*��
�������
����
�����������������@������/;�<1�

//
�"�����	5�������	�	�������� ������
����� �����*������ 	�� 	�������1����	5������ 	�� ��0J�5�*

����	5���� ������5���� ��	�� ������ ����� ���� ����	5���� 	�� 5����	���� 	�� ���� 5��5���� ��� ����

��0J�5��� 	1�1� =0����� ���� �����>1� "�����	5� ������5��� ���� ����� 5��5�	���� ��� 0�� ���*

	�������	�����4��������	5������������5	���5�������71����	��������������	���	�����*��	��	��

����A���	��5����������������	��������	�	���	�1����*������	5������*��#���������������������

	�������	��� ���� ���������� C� ���	�� 
	��� ���� �A5���	��� �����������	5�� **� �*������	��	��

=0�������� ���� �����
>1� &��� �� ���	���� ��J�5�	��� ��� ���� ������	5*�������	5� �	5������� 	��

�����������=���>���������	����*�������	5�������5���40���������	5����������	5�����7�����
N�

L�	���� 2�
�� )������ ��� #��	�	5	��3�� 	�� -
��� �� �����
�� "����� �)� ����� 4@�������

!�	����	����������8��0�	���������1��/;:/����-.1�

=#��	�	5��� ���	�	�0	�	��>� 	�� �� 5���	������ 5����5���	��	5� ��� �������	5� ������	�	���� �����

������� ��� ����� 5��5�	��0��� 4���� ��5�����	��� �5����7������� ��� ���	��	��� 0�� ��5������ ���

�A���	��5�� �����	�	��� ��� ���� ����	5��	��� ��������1� ����� =0�������� ���� �����
>� 	�� ����



�

E����F�=����������	��	���
�������
���>�,�

/.�

�	��	���	��	��� ����	������ ������	�	���� ����� ���������� ���� ���	5��� ���	�	�	���� 
���

	������5���	��������������������	�������
	������������	�	�������	������	5���B����	�������

=������*���0����>�� ���� ��� 5��5�	��0��� ������	�	��� ����� 
����� ���6� ��� ���������� ����

���
��� ���� ����� 5����� 5��5�	��0��� 0�� ���	�	5����� ���	�	�0��� C� �1�1�� ������	�	���� ���

�����5������������	5�1
/-�

)	����������������������������	���������������������5�������������	�	�0	�	�����B�	������1�


�	����������������	��������������������N	�����8	�5����������	�	����������5��5������������

������	�5	�����������������	�	��������	���������	�	�0���5��5���	�����	��������������������������

����	������?�	��	�������	�������	��������4�������������	���������	�7���������������	�5������

�����5�����61
/+
���	���A��������������	�����5�	���������5��5�	�	B��������
	��	�������5�����

��� �����
	�����1� ��� �A5��������������	������� ����������� ������������0�����A���	��5������

�������������������������������������������������������������������������������������������������������������������������������������������������

���	�	5��������	�	�0���0�5�����	����6�����5��	���0��������0���������	�5���	��������������

����	��55���	0������5�����0�������������������������A	��1��

/-� ��� 	�� ��������� ��� ���� �	�5���	��� ��� ������	5� ��� ����� ���	5��� ���	�	�	���3� ���������� ���

���	5�������0J�5�����
�	5������������������������	�
1�
�	���������J�5���������5���������

���	5��� ���� ������� ��� ������	��� ����������� 
��� ����� ��5����1� �������� ���� �����

�����������	����	�
�	������������0��8����������"���1�������	�	����������	5����������������

�������� ���	�	5��� ������	���� 4=	�� 	��
����� ��� �����>� 	������������	�	5���������	����0����

�����	��7�0�����������A�����	�����������	�����0���������	�������	�����	��������5����A������

�������� ��� �	������� ���������� ��� ������� ����� �����	��� 4	�� "���	�	��� ������� 	�� 	�� ��

�����5��	������ �������5�71� (��� "� $� "����� �
���
��.� �
��#� 
��� ������� -��� ���� ���1��

'�����5G�����������/;K:1�

/+
� (��� &�
�	������� 2N��	�	�0	�	��3.� 	�� "� &��
� 4��17�/��
*�� ��� ������ 
��� �
���
���

���56
�����  A������ /;�/�� �� //<1� "�������� ����	��� 	�� =������>� 	�� ��	�������� 4���

������������5	��5�7���������������
�	�������5���������������������	������������������

=�������	��	����>�	�������	��������5������5���	�	��������������A���	��5�?������	�
������

��	�������� 
��� ����� �� 5�	�	B��� ��� ���������� ��� 	���������� ���� =�	��	���	��� ����>� ���

�	�	5����� ��� =����� 5�	�	5	��� ���� �������>� ����
����� ����� =
�	��� ���	5� �����

���� ����

��	�������� ������� ��� ����>�� 	�� 2@�
� �� ���� ��	�������3�� 	�� "1$1� "���� 4��17� �����
��

���	�	�	��������&�������������
*E��6��/;�;����+�K1�



�

E����F�=����������	��	���
�������
���>�,�

//�

����������51?�	�����������������������5����������������	���������������	������������	�	����

4
��������������������7��	����������0�	���������������	����������������	������	������1
/K
�"���

���������� �����	������ ���� ����	5��	��� ��� ���� ���	�	�0	�	��� ��	�5	���� ��� 	������ 5������� ����

�0�	���� ���0���� ����� ��� �� ������	�	��� 	�� 	�� �0�	������ ���� ������	5���� ���� 	�� 	�� 	�� ����

5��5�	��0���
������	�	5��������	�	�0��1
/�
��

��	������	5������ ���	5��� ���	�	�	��� ���� �	�5�� ����� ��5�� ��� 	��� ������� ��� �� ������� ���

6��
������� ��� ���� ����� 5��5���� ��� 6��
������ ��	����� ����� ������	5��� ��� �	����	5	��� ����

��5	����	5��� �����1
/:
� �������������� 	�� ��	��� ������ ��� ������� ��� =5�����*����	5��>�

������5������������	�����������	��������5�	����	�����������������	�������������������������

���� B�	��� �� ��
� �5	���	���� ���� �� 5���	����0��� 0���� ��� ��
����� C� ����5	����� ������

����55��	���
	������J�5������������������5��	�������=�����>�������	�	��������������� ���

�������������������������������������������������

/K
� &��� 	�����5��� ���� ������	�	��� =������ ���� ������� ��	���>� 4∃A74'A7� 	�� ���	�	5�����

���	�	�0�������5������	������4��������	�������������0���������������7�0�������������	�	���

=����������������������	���>�∼4∃A74'A7����4∀A74∼'A7�	���������	�	�0����������5����������

�����0�	���������	����������1�������3������	�	�0	�	�����	�5	��������5�������������������

���0����������0���
��1�/�1�

/��)	������������������������
	��	�������5�����
������������������������	�1� �������
��

��	����������������������������0��	�������)
���)�
�����*���	�5	���������������	�	�0	�	�������

4=�� ������	�	��� 	�� �55����0��� 	�� 	�� 	��� 	�� ��	�5	����� ���	�	5����� ����	�	�0��>71������� �����

�������6����������	G	����������������	�	�0	�	�����	�5	����0��	��������������������5�	���	���

��������	����0������������������5��	���5�	���	��������	�5���	���=�5	���	�	5>�������	�	����

����� ������ ����� 4��5�� ��� ��������	5���� ���	�	����� ��5171� (��� M� �������� �#�� ������ �)�

�������)��� 0���� �
*� @������ P� %�
�� �������� /;�;�� '��$����
��� 
��� ��)��
�����.�

@������ P� %�
�� ��
� E��6�� /;:�1� &���� �� �	�������� �	��5�	���� "���� � ��������� ����

�����	��������
��6������	�	�0	�	�����	�5	���������������������������������,
��
�����*��������

����� 5��5���	������1�(���"� $�"����� �0�����1�/-1�&�����5����5�	������
��6��0�� ���	5���

���	�	�	����������	�6����
���	������5������������"������0�����1�/+1�

/:
�"���������������������������5�����	����������������������(1�M������#����
����
��

&)��������)����� ����������!�	����	������8�	5�����������8�	5�����/;<.1�



�

E����F�=����������	��	���
�������
���>�,�

/-�

������	�	���� ����� ���B�����	��� ��� ��5�� 
�	��� 0�	��� �A�����	���� ��� ������ ��� ���	�	5���

5���	������1�

����	�
����������A���	���	��	5������	������0���	�5������C����������	�	���C�	����������0��

�	����5��� ��� 
���� ����� 5�����	��� ���� ������ 
	��������	�� 
	��� ���� ���	5��� ���	�	�	���1�


���� �����������������
����� �����0����������**��55���	��� �������������	��������	���**�


������� J���� 	�� ���	�� ������5�� �������	������ 	�� ���� �������	��� ����� ��������� 	�� ����� ��

������� ��� �����������	����� �� ����	�� ����� $1�1� "���	�� ��00��� =���� ���5�	��	��� �����5�>1
/<
�

"���	�� ����56��� ���	5��� ���	�	�	��� 0���� 0�� ��������	5����� �������	��� ���� ���	��� ���

=��	��>� ��	���� 
	��� ���*�����������	����� ��� ��� 
���� ��� 0�� 	���6	��� ������	5�� �� 5����� ���

=��	����
�	5��������������������������
����	������������0�	����	��	����������������>�0��

�������	�	�	����������������=	������������������������5���0������	������5���������	����	��
���

�������1>
/D
�������*����5�	�	5�����B������������6������=�����
�	����111�	���	���	��	5����������

��5	����5	��5��111���������������������������	���5�����	5��	���H��6	�����������������	�����

���6�C�$EI�	��������������5�	��������������>1
/;
��

��� �	�
� ��� ������ ������� 
�� ����� ����� ��� 	��������� ���	�	��� ������� 0�� ���� ������


	��������	�������������	5������	�	�	��������	��	������5��������������������	�	�	����������	�
�

�������
������������=�����	��������5��>1-.������������������5��	���������55���	�����������������

�������������������������������������������������

/<
� (��� "���	��� 0���
� �1� +:�� ��� �� -+K� ���� ����	�1� ��� ��	�� �	��� 
	��������	�3��

�����������"#�����,#��
�� �� �����
������
�������������0�	������ 	��
�	5������=�	5�����

������>�	����J�5������������	����������5���0������=����	���������>��������4
�	5��"���	��

5�	�	5	G��������������������71�

/D
�"���	�������1�

/;� $��	��� ���	���� 2
���� ���6� 	��3�� 8������ ��������� ���� ���	�	5��� #5�����3�� /-�

���
��
��/�#���������4/;D;7�-/K*-+�1��

-.
�  ������� ������ �55������
	��������	�� 	��
������� 5��������
	��� ���	5��� ���	�	�	��1�

(��5	�	5������
	��������	����������0�5�	0�������������	�	�	��3���	�
��������	�	�0	�	��������

5�	���	��� ��������	�������������� ������	�	5	�������� �������@������3�������
	��� ������

5��5�����������1�"���������

��������	�	�	���3����J�5����������@������������0��������������



�

E����F�=����������	��	���
�������
���>�,�

/+�

���������� 	���0	��������� ����4��5	��7�
������ ���������������0��5���	���������������������

4��5	��7� )
���1� ��	�� 	�� �� ���	�	��� ��������� ��� ���� ���	���� J��	��������	��� B����	��� �����

%	5���������������������������=��������������>�C�
���������
�	������J������������������5����

���5���	������0�����������5��5������	G���
	��������5���������������	���5������	������������

���� ��5	��� ��5��� 4��5�� ��� ���	5�� ���� ������ ����� ����������	����� 	����������	��� ����

����	5��	��71����� �����	������ �	���	��	5� ������� ��� ��	������������ J��	��������	���B����	����

�����0��������������
����1�

�

�������������������������������������������������������������������������������������������������������������������������������������������������

��� ���	*��������	5���
��61�%������� 	�� �	�
�� ��������� ��� �	�	���� 	�� ��5����
��� ����� 	��

5������ ���������� ��������	5��� 	��	����?� 0��� ��	�� 	�� 4����	0��7� �� ��	��� ��� �������� ����

45����	���7� �� �����	��� ��	��� ���� ������ 
���� ��� �5�	��	��� ������ 	��	����� **� 
�	5��


	��������	��5������=����	5��>����������=��6����������������	����>�4���@�O:1�--7�**�

�������������	�	����������1��������@�5��5������
	�����	���������������	�	����="0����


����
��5����������6��
�������0���	����1>4���@�O<1���	����������	���	���������0��������

�0�	���� �������� �� ��	�6�� ��������� �����5'�	����3�� =
����
��5������ ����6��0����
��

����� ����� ����� 	�� �	���5�1>� "�� ���������
�� �	���5�� 	�� B�	��� ���� �����	��� ��� =����	���

����>17
�
��� 	�� ��� 	�����	����� �	���5��� �� �	���5�� ����� �������� ���� �A	����5�� ��� �� ������ ���

��	���� ���*�A�����	0��� 0�� ��������� 0��� �������� ���� ����� �	��	�	5���1��

��
������� ��
�� 	�� ���� ����������� ������ ����*=�	���	��	5� ����>� ��	���������� ����� �����

5���	�	��� ��� ���� ����� 5��� 0�� ����	���	��	5�� ��� ����� �����	��� ���� �	���� ���� ����� 	��

	��A�����	0��� 	�� ��������1� ��	�� ������� 5��	�� 	�� �����	���� 5������ ���� =��	�5	���� ���

�A�����	0	�	��>�� �55���	��� ��� 
�	5�� =
�������� 5��� 0�� ������ 5��� 0�� ��	�>?� ���� $����

(�������/1,
�������
���%�
������8��0�	�����8��0�	����!�	����	���������/;<;����/+K�

��	�����	��� (������� 0���
� �1� +�1� )������3�� ������	��� 	�� ������� ����� ���������� ���

���������

���	��������������5����������������
�����������	��	�����������0�����������5���5������

��������A�5����
�����������	�6	��111�������������������������
���������������	��

�	6��**���5�����	5����������������������������1�

�	5����� )�������� 2&����3�� )	��	�5�	��� 0��
���� (����� ���� %������5�3�� 	�� �
��#� 
���

&�#�
�/����
���8��0�	�����8��0�	����!�	����	���������/;<D����//:1� ����	��B����	����

���������	�������5�	�������	����������	���������1�



�

E����F�=����������	��	���
�������
���>�,�

/K�

�N1����@#����'!�(��8��!%��

�������� ����� ����� ���� ������ �����6� ��� ��������� ��	�6	��� �0���� ��������� 	�� ����

�
���	���� 5������� ���� 0���� 	������5��� ���� 5���������� 0�� 
���� 0�5���� 6��
�� ��� ����

=�	���	��	5�����>�	����	������������������	��������������������	���	��	5�1�����������������

	����
������	��
	��������	�3�1����	��������0��	5�������	���	��	5������	��������	��5��5���	���

��
� 
�� 6��
� ���� 5������5�� ���� 
����� ��� �� �����5�� ��� 5���	�	��� �5�	�	��1� �����	��3��

	����������	��������������	�6	����5��	���	���=�0���>�����
�����	�������	���������������	��

��������������C�������	�������������
	������
���1�="0���>������	�����������	G����0�5�����

���� �	���	��	5� ����3�� 5��5���� ��� =
����*��������>� ���	��� ���� ������� 	���������5�� ���

�������������
�������������������5����������	5��������6	����0���������=�0���>����������?�

=�0�������>� 	�� ��� ������� �� �����	��� 0��
���� ������������ ���	�	��� ���� ����� 0��

��	��������������)�
�
�� �������������������������	�����	���������	�	�	��	5������1������������

��	�� �������� 	�� ����� ��������� 	�� ���� �� ��������� ��� =�����������>� ���	5�� �������� 
�	5��

�������� ���� 5���	�	��� ������� 	���5�1�  ��� ��������� ���� ������� 0�� ���� ���	5�� ����� 	��

���	��0��� ��� ������ ���� ��������� 	�� 
�	5�� ����� �55��1�  ��� ������	�	����� ����� 	�� �����

�������� ��� ���������� �� ���*�	���	��	5� ����	���� 

�� �	���	��	51� 
�� ����� ��� �	��5��� ���*

�	���	��	5��55���� ��� �������=�0���>�����
�����4����	5��������5	������������	��71�
����
��

5������ ���� 
�� 5������ 6��
�� ���� ������ 5�����	5���1� "55���	��� ��� ���� ����� �A������

0���5������������	���	��	5�����������
�������������	�������	0�������������������**�����	5���

������5	���**�����5������5�	��������	���	��	5�5���������5���	�������������������5����	�������

�����	�	�������	���	��	5�����5�����0�������������������3��	������������������	5�5����5���1
-/
�

"�������������������������	���	��	5���&���	��������(��������������6����������������	���

��� �	���	��	5� ����	��� �������� ��� �	�������	��	��� ��� �	����� 	1�1�� ��� ���	��5�� 4=�����>� 	��

�	�������� �����=����>��������������������#���	���������������������	5����������������6	���

�������� ��	�� ����	G��	��� 	�� ������� =�����	���	��	5� �
�������>�� ���� �
�������� ���

��������3�����	��	5�5����5����C������	��	���������������	��	�	5��	��������������������	����	��

�������������������������������������������������

-/
�(���0���
��1�+/1�



�

E����F�=����������	��	���
�������
���>�,�

/��

�	��	�	��71
--
�"�����*0����� �����������5�����	����	���� �� ����
�����	���������	�
���� ����


����� ����� �� ���0*0����� ���������� ���� �����5�� ��������	����� ��� ����� =�������

��5������5�	��	��>� $1�1� 
�	��� ���
��� ���� 	�����	0��1
-+
� ��� #���	��� ���� ���� ���� =	�3��

��	�	��>?� 	�� @�0��
� =���� ��	�� 	�� 5��	��� ��
�>1� ��� #���	��� =	�3�� ���>�� 	�� &���5�� =	�3��

��	������>��	��@�0��
�=���>1����
�3������6	����	�����������0��������
�����**�����
������**�

����� 
�� ����� 0�� 5������5�	��� �	�������� 
����*�	�
�� ��� 
�� ��1�
������ =	���0	�� ��5��

�����3��
����>� 	��5�����	5��	��� ��� ����	��0�������5����������	����0��� ����������5�������

�����5�����	����������������������������	�������5�����	5��	���	��J�������������1��	���	��	5�

������	���	��������	��������������������5������������5�����	5��	��1�����������������	���

�������M���	���5������	�������������**���������	������	�����5	0����������������������������0���


����*�	�
��**�����������5�������5�����A�5������������5�����	5��	��1�)	����	��������

���� 5��������� 5�����	5��	��� ��� �55����� ��� ������� ��� 	������5�� 5�������5��� 0��� ��� ��

���������� 	�0������=�	���	��	5�	������	��>�������������	5���	��������5����������������	���

������ ��������1
-K
� (���� �	���	��	5� ���	��5��� ���� 	������ ����� �	���1� ���� ��������� 	��

����������
	��� 5�������� ����
	��� 	������	5���5���������� ����1�#��������5�	��	����������5��

��6�����5��	���������������������B����	����=
����5�����9>�=
��������������������	0���
����

������6�	�������	����5����A���0���������	���������*��*����	����5�����9>�M���3��5�	�	B������

������������C��������	��������6��
������	���������0����5����������������5���	�	��������


�	5�� 5��5����� ������� C� 
��� ��	�������� ���� ���	����� ������� ������� ������3�� 0�	��	���

0��56����5�����5�����	�������5����	����B����	����B���	�������0��1���
����������	�	5��
����

�	���	���1�����	����������	��	5�
��������	��������������	����������
����	�5������	���������

�������������������������������������������������

--�(���#�	G�0��������G�P�$��������E������2�����	���	��	5�"
�������3�	���#��2
�����3�

�)�"

��
������N���5������������1�4���17�������5��	���-../*-1�

-+
� (��� $����� ����� 
�	���� 	������� 
�� �

���
����4� ��� /��
*� ��� '����

�� 
��� ���
��

'
���������8�	5�����!�	����	������8�	5�����������/;;.1�

-K
� (����	5����� (	�������	��� 2��������� (���5����� ���� �	���	��	5� ��������3�� 	�� ����� %1�

8����� ��� ��1� 4���17�� �#�� /�������4� �� "


�������� ��� ����������� (����� 
��� �� �����



�

E����F�=����������	��	���
�������
���>�,�

/:�

0�� 5���	������� ���� ��	������� ��5������ ���� ������ ���� ���	�	5��� ������5�1� ��� �	��������

�	�5���	���5����A���
����6���1�1��
���5������0��������������������	����	5������������
���

	�� ��	������� 0�� ��������� �	���	��	5� ���5�	5��9�
��� ����� ��� ������	��� 
���� ���� =�������

��������>�� ���� ���������� 5����5�� �	���	��	5� ������5�� 	�� 	�� �	�������� ��5	��� 5����A��9-��

�������������0�5�����	�������������	�	5��1�!�	������������	�����������������������������

�	��	�	5��	�����������	���0��
�����������������	��������	��	�	���=��	���>1����	�������������0���

	��	����	���	���������������5�����	5��	�����������������
��1� ��5�����	5��	���0�5������

���$������@�0���������� 	�� 	���	���	����	5������	������=5�����	5��	������	5�>�����	�	�	���

���������5�������������5�������	���C�=	���0	�	��� ���������3��
����>������������	�������

5�
� ������ **� 	�� ��B�	���� 	�� ���� �	���	��	5� �A5������ ���� 	�� 	���	��� 0�� ���� ����� �5�� ���

���6	���������������1�����	����������������5����������������	5������	�	�	�������5����*5���

=�����������������5�>
-:
�������������5�������������	����=���5������>�

-<
������5�	������0���

��� ����	���� �����	5� ����
���$���� �� ���5�	5���� ����� ���� ������	���� �������*���*0��

���5�	5�������	���	��	5��A5�����������������������0������1��

�������������������������������������������������������������������������������������������������������������������������������������������������

8�	5����� 8�	5���� �	���	��	5� (�5	����� /;<;�� �� /;+?� ����� ���0	� �1� (5�	�����	�� ��� ��1�

4���17���
���
��������������� A������ A�����!�	����	���������� A�����/;;D1�

-�
� �� ���� =������� ��������>� ��� ��� 	������	G��	���� B�	��� 5����� ��� 
���� ��6��	�� �������

=�������� ��������>?� �����	6��	����6��	����#��0�
������ ��
���
�������	5�����@��6	���

��1��8�����#������������1��"���	���!�	����	��������A����������/;D/?��	6��	����6��	��P�

������ �� ���������� �#�� -�
�
�� %��#��� ��� ����


*� ��#��

�#�,4� �� '
����
��

���
��������� ��� ����������
��"�������� �����1�"�0����
�����������	������ $�����@��6	���

!�	����	����������/;D�1�

-:�"55���	��� ���&������ ���������� ���� �
��5�����������������	��1�(���
��������8�����

-
���6���#��
*��)�������
�����)�
�����4�����&
������
������,���8��0�	�����8��0�	����

!�	����	����������/;;K1�

-<
���	�� 	����
�"���	�� ����������� ��������3��=���	5	���5���	�	���>������55�����������5��

�5��?�����$���"���	���2������0���#�����7��#�7�
����8��0�	�����8��0�	����!�	����	���

�������/;:-����������	�5���	���������������	�������������0����
1�



�

E����F�=����������	��	���
�������
���>�,�

/<�

�	��G�5��3��-.���5���������	����	5����&��5��������J�5����@�0�����3����	�������
��6���

��� �A��	��� ���� ������ 0�� 
�	5�� ��������*��*��
��� 	�� 0���� ����� ��� ���� =�	�5���	��*

���	5��>����������	�	�������������������������������� ���������5	�����������0����������	�1�

)	�5������	�������&��5����������	�������
������������	������	��	�������5����������
����
���

����� ��� ����69�
���� ��� 
�� ����6� ���� ���� ��
9�
���� 5������ ��� 6��
�����9
-D
�
�����

��	5��5������������
��	��	������
��9�@�
������5��5����	�	5��	�������0��
����������	���

�����������	����������������	56���������	�����������5���������	���	�����������������������

��� ��������� =5�����	��>� ���� =�������>� �	��	�5�	���� 0��� ��� �� ������� ��� ����	��� ����

������	�	��� �	�5������ 	�� ��� �������� ����� ��� ����	���� ��
��*5������9� ���� 	�������� ���

�����������	��� ���B������� �0�5����� ��������3�� ���	�����	��� ���5�	���� ���� ���� 
���� 	��


�	5�� 	�� 5������5��� 	������� ��������� ������ ������� ��� ������ ��� ���� ���������� �����

=�����5������>� ������� 
�	��� ���	�����	��� 5��5����� 5����A��� �������� ���� ���	����� 4����

������ 	���5����� 	�� ���� ���	����� 0���������7� �����������	����� 5��	��1
-;
� ��������� 	��

�	��G�5�������	��&��5���������������������
��6�
	��	����������������5�������������
��6�

0��� 	�� ������	�� ������ ��������
�	5�� ���� 5�������� �����
��6� 	�� ������� 	�� ���� ��������

�	�����1����������	�	���C���	�����	����
	���
�����**��������	�����
	�����5����������	�������

������� ��� ������ 
	��	�� �� ������ 0��� ��	���	��� ��� ������ 
�	5�� 5������5�� ���� ������	���

������ ���� ���� 5���5	�������� ����� �����
� ����� ����1� %����������	����	��� 0�5����� ���

����������0�5��	��� ������� ����� ����������5��� ������������������ ���������� ���0���5�����

�����������	���������*�	���	��	5� ����	�	��1����� ���� 	��
�� ��6�� �����	���	��	5� ��������	�������

�������������������������������������������������

-D� ��	�� ����� &���5	����5��3�� ������� �	5����� =6��
������ 	�� ��
��>� ����
���� ��� 	���

����1���
��������	����**����������	�5������**�������
����5���������6��
�����1�

-;
�"55���	�����������	���������	���	���	����������0�5�������	����������5�	���	�����������

��������4�1�1��
����	�6��0���������
���	�������	����	��5����	����5	��	����������	���	��
����

����0����������� 	���������C� ���5�	��������0����������0��	5�����C��������A5�����17�(���

�	����������	�������&��������)�
��#��
*��)�"

�������8��0�	�����8��0�	����!�	����	���

������� /;<<1�#���5�	��� ��������*���5�	����C� ��5����� 5����	�� ������������������	�	��� 	��

���	�� �����	��� ��� �������5�� **� ���� ��B�	��� �	�	���� ��	���� ��� �������� 4�� ����6��	5�����

(	�������	��������	��	��	���71�



�

E����F�=����������	��	���
�������
���>�,�

/D�

��������A	����������� ����	�	�������
���� ���������5������5�����������
����� ����56��
������

4��	������	��
����������A������������������������0�����J��	��
���������#�
����(��	���

����	����
���0���������=(��	�*
���������	�>71
+.
�#�	��������	5���	����	���������	�	G�������

����
���� ������� ��� 	��� ������ ���� ������ 	��� ���������	��� ������ ��� 
���� ��� 	��� ���	����

��������� ������� ����	��� ���������� ���0���5����� �����������	����	���	����� 	���	5���������

��
����������	���	��1��������0����
	������������	�����������	����������������������
���

���������������	�����0��������	�����
���	���������������������	��5������5��������
�	5��	��	���

�0J�5�1����� 	�� 	�������������*��*5�������5���������������	�	5��������������6�1�(������� ����

������	��	�	5����
��6������0�����	�	������5������5�	�	5����������5��������	�������A���	���

���	���	���� 	������	5��� 0	����� ���� ���	�	5��� 0����� 5��	�	��� 0�� ����������� ���������

���5��������������������������1�


����� 	�� ������ ��� ������ ��������9� &��� ������ ����	���� ��5�� ��� �	����
�������@������

������������������
�������	���������� ������������**�����0�����5�����**� ����5�� 	����5����	��


��1� 
������� ��������� ��������� ��� ���������� ������	��� 4��5�� ��� ������ ��5��	��7� 
���

��������0��� ����� 	������ 	�3�����5	�	5����� ���
��������� 	��5������5��	�����������������	�������

���� ����� ��5���	��� ��� ���	�����	��1�
�	5�� ��6��� ��� �
��� ����� �����������	����	���

������������������	5����������������5	���	�������5���������������	�������������������	����	��

������5	���
����1�

�

N1��� �#%& %�"��N��E��%@#� %�8��"�)����#%�%#�"�� ����@#�

�"
E#%(3��"�'!"'#�

"��� ������ ���� ������� �	6�� �� 5�������	��� ��5	���� �����	��� �� ��5���� ���	������ ��
�����

���������� ���� ������	5��� �����	���
�	��� ���� ������ �������	��� 	�1� &��� 	�� ���� �	����	��� ���

�������������������������������������������������

+.
� (��� $�����1�8�������P����J��	���1�
����� 4���17���
���
��� �#���#�� 
�����
���*4�

���������7
��������)����$
��������7#�
)��8��0�	����������������/;:K?�#�
����(��	���

�
���
��4�������
�������������#������*��)��,���#����
�E�6��@����������6��/;��?�����



�

E����F�=����������	��	���
�������
���>�,�

/;�

������ ���5����� �����
���� ���� J�������������
���� ������5	�	��*��6����
���5�������� ����

���������0�����������������
����1�"�����
�������������	��5�����������
�	���	���	��	5������

��
�������
���������������������������0�	�����	���	��������	5���������	�����	���5���������

�	��	�5��5�����������5�	��1+/����������������������������	����0��
�������������������������

	�����������������������	��������������������������A����	G��	������������
	��������������	��

�������� 6��� ������ ��� ���5�	5��� 
��� ��	G��� 0�� ���� J������� ��� ��	�� 5����� 	�����	�	��� 	���

	���	���	����������5�	������5����	5�����A��1
+-
� ��	5	���5�����������	���5����	��������
������

0���� 5�*�A	��	��� 
	��� ���� �����5	��� ���� �������� 0����� ��� ��5�������	��� 0�� ������� ���

5�����5	�����0�	��	��������������
���������	�	���5�������������1
++
���������������	G������

���������� ��
���������������������������J������������ 	��	���������A����	��1�������	�5	����

	������	��������
�������	�����	�	����B�	���������	��
��������	����������������5����	5�����A��

5������ ��� 0�� 	����	�	���
	��� ���� ��	��� ���8	5���3�� ��	��� 	�� ������ ��� (	��#�
����8�6�3��

�	0�	����������J�����1�����������������	�����������	5�������������$�����
���,������������

	��� ��������5�� ��� ���� ������ ��� �	������ 
�� 
� ��1�1� ������ ��A��� 
�� 5������ ����������� 0��

����������	����������������	����	������������	5������1������������������������5�	���������



�������5�	��?���������������������������	������������������5��0��
�������������	���������

��� ��� 0�� 5����	���	��� �� ���	���	��� ������� ���� �5�	���� �������� �� 5������1� ����

�������������������������������������������������������������������������������������������������������������������������������������������������

�����$����"1���5����
���
���0� �
���*�
����#���#�4�����)�
���
������)��#�������������

���
�� ��*�2*,��#������8��0�	�����8��0�	����!�	����	���������/;;-1�

+/
�������1
���
���� ����%
��
�����(�
���
�����*���������������=���������������������

��
����	��
����>�4&��
�������-
��
���1��/;:<71�������	���	������
���������	��	��5����5�����

�����0����������
�������	�6���������������	����	��
��1�

+-���	�����5�	��	�����	��������������������������*J�������5�������0�����?���
������	��J����

��	���� J������� ����� ���� �����������	������ ������	5���� ���� ����� ���������	��� ��������� 	��

	�����5�	���J�����1�(���0���
����A�������1�K.�����K-1�

++
������	��������
�����������
�������5���	G���������5�����������5������������	������/;

��
��

5������1�(���$�8�
����5����#����,�
��
�.��


�����
���'#


���
�8������#���������
��

���

3���(������������0������������/DD-?�
���(�)��	�����#��2����
*�
���&
������)�

�#���
����,�
����
1�8��
���P���������������/DDK1��



�

E����F�=����������	��	���
�������
���>�,�

-.�

,�
)�
�
�� �������	��������0���������������	����	�������������	5���5�����
	���������������

������������1��

"55���	�������������������	��������	�������0��	5���	���������5��	����������5�*��*��5��

�������	5��� ���	��� 4��5�� ��� �� 
���� ��� �� ������5�7�� ���� 	�� 	�� 5��5�	���� 	�� ������ ���

����	����
��������55���	������������	5�����������	5����������������5���1�(���5��	�����

���
�����������������	��������	������������	����
	��1�%��������	�����5���	��������	�������

5��� ���� 0��� ���� 5��� ����� ����	���� �
����� �������� ���� �����
	��� 5����	����� ����	��� �������

�������������������	�1�
�����������	�������������	�����=����	�����J������>����=���������	��

��	���������
���>������������������������5�������������������������	������������������5��	��

�����
��?���5����������5��	������
��������������������5�	����	��%�G	������������������	���	��

��J������������	��	�������1
+K
���������5���5��������
���������������������������5�	���**�����

����������
	�������������������	�	���������
	���������������������������	���**�0��������	��

���������� ����� ��� ��5��� ��� ����
����1� ��� 	�� ����� ����� ����� ��� �� 0�*�����5�� �� ����6�������

�	������������� ������� ���� �5�� ���� 	�� �������	��1
+�
�  �� 5������� ����� ����	��� 
	��� 0�� ��� ��

��5��	��� �������� ���� ���� 5������ **� ������ ��	���� 0�	��� �B���� **� ����5�� ������� 	�� ����

5�������0���
���	��
�	5��$������5����������������������������	�����������������������

'	�3��1� ����	��� ���	5� C� ���� ���	5��� ���������	��� �5�	��� ����� �������� ���� ����� �������

����� �� ������ ���5�	��� **� ���� ������ ��� ���������	��� ��������� 	�� ���� ��5	���� ������	���


����1� 4!��	6�� ���� ������
	��������	�3�� ���	�	�	��� =����
����� 	�� ���� �����	��� ��� ��5��>� 	��

�������������������������������������������������

+K�"55���	������%�G���	���*��������������������5������������������5������	��5���5�	�����	�����

5���	������ ��� ���	0�������� 	������� 0�� ��5	�	��*��6���� �55���	��� ��� ��5���*������

�������1� #A5���	������ ������ 4����� �55���	��� ��� %�G�� ���� ����� ��� ���7� ���� �����	����	5�

5����1�(���$�%�G��"

����
����
����
�����
����@��5�	���������������/;<�1�

+�
������(�������	��	���	������������5��3�=������	�	�����5������>���������	�����������	���

���5���=�����������	�����J������9>�=��������	���	����J������1>�=����	�����J������Q>�=��

������� ��� ��J����� ��������	��>� ���� ������ �� ������	�	����� 5������� C� ����� ��� ������	���

0�	�����J�������C�
�	����������	����	������������5���5��1�(���$����(��������,���#�����4�


�� /��
*� ��� �#�� "#�����,#*� �)� �
���
���� 8��0�	���� !�	����	��� ������� 8��0�	�����

/;:;1��



�

E����F�=����������	��	���
�������
���>�,�

-/�

�����������������
�����5���	��������	��������	�������������������5��������������	��������5�������

�����5����
�	5��	�5����������17�������������������������5	���	�������������	�����	���������

������	��
�	5��������������	��0������������������������������1���������������3������������

���������=J���� �	���	��	5>����	�	��1����� ��
����������������������	���� ��� ��������	��������

�������� ��������� �����
�	��� ������ ��������	����5����	�������� �	���	��	5����	�	��� 4��5�����

�����B���	�������5�	0	�������	��7���������	������	�����1��������������A	���	�������*�	���	��	5�

������� 	�� ���� �
�� ��� �	��� ��������� ����� 	�� �� ��5�� C� �� ������	��� ��5�� C� ����� 	�� 	���

	���	5��	�������������������������������������5�	0���	�1���
	�������������5��������0��	���	��

�����	����	5���
����	��
�	5��������	5��5�������������������=R��
���E��	����������>�
	���

���������������������0�	���	�������������1�

����  A����� ��	��������� $1�1� "���	�� 
��� ���� �	���� ��� ����	��� �� ����� ��� �����

5���������	����	�5���	������ �������������	��������	��1�"55���	��� ���"���	�3��5��������

��������=
����������2����3�4�	51���6����	��
��������0�������
����
������
	��7�����������

������	��� ��� �� ����	����� �� ��� 	�����	��� 	�� 	�1>
+:
� ��������� ����� 5��5�	���� ���� ��

5����	���	��� ����� 	�� 0���� ��������	��� 	�� ��� 
���� ��� ����	��� ���� ��5	��� ��	������� ����

��������� ������ ��� ��	���� 
	��� ��������� ����
���� �	6�� ����� ��� ��	���� 	�� �������1� ���

����	���� �55���	��� ��� ���� ���������	��� �����	���� 	�� �6	�� ��� 5����	��� �� ������ ������ ����

0�����5��������0����5����	�������5��������������	5�������5���������������������	�������5�1�E���

������ 	�� ��� 	��������� �	������5��� 	�� ����� 5����	��� �� ����� 	�� ���� ����� 
	��� �	����� ����

�����0��� ������ ���������� ��� 	����������	��1� #������	��� ����� 
	��� ��������� 5���	���� 	��

���	�����	��� ��� �	���� **� ������	5�� ��A������ 0���� ��������� ��51� **� ��� ���� 5����	���	��� ���

����5���5�������	6��������������5����	�����������������	����������	��1+<��

�������������������������������������������������

+:� $� �� "���	��� 2���������	��� !������5��3�� 	�� "#�����,#��
�� "
,�
��� +��� ���1��  A�����

!�	����	���������� A������/;<;�H/;:/I����-+�1�

+<
�8��5���	��� 0���� ���� 	���5��	������ �5�� 4
����������� ��� �5��
������������7� ���� ����

��5��	������ 4
��������� ����������	�	�����5���������� ��������5���5�� **� 	�� ������ 	������**�

����971� ��� ���� �����
	��� �A������ 0���� �	����	���� ���� ������ ��� 0�� 	����������	���

�����������/7�
��������������������5�����������	��?�-7�
����
�����������	����0���1�



�

E����F�=����������	��	���
�������
���>�,�

--�


�����������������������5�� 	�� 	����������	��9�������� ��6�� ���� 	�B�	��� ����� ����
����

5����
�����
����������'��������J�����������������������	��������������������3����0���4�	����

����3�� �������� ��	���A�������������� ���0����5��������5����71�(����	����������	��������6��

��
������������������	���	��1�=
�����3���5���������
��������>�������
�������	��	������

���� �0J�5�� 	�� B����	��� 
�	5�� ��� 0������ �������� ��� 5����� 0��	��� �	�1� =@���� ���>� **�

(����	��	��	������������	���**�=�������������6�������0���5���������������?���	��
	���������

��� ���
�������������	������5�	������ �����	���1�&������������ 	�� 	����������������
	�������

0����
���1�2�	�������������������1>������	�����	���1�=��������6��
�����
������	������0���	����

���
��>����������	����5�	5��������1�=������������	�������0�	���������Q�)	����������������

���������
�����2�3���0��0�	��	����������
������5����0�5639�������	����������	��1>�="����

������
���������	���0��������
��������������A�����	���������	�5�	���	��������������������

����	��������	�������������������������	���������1�"������
�����������	��	�Q>��

(����	����������������������������
����	����4��������71� ����	��
�����������������������

���������� ���� �5�� ��� ���	���	��� �� �
��1� ���� ��5���� 	��� 
������� ��� ���� ��� 5���	�����

�	�����������	������0���������	�����������5���5���������	�	��1������0��������������������

�	��	�5�� 
����� 
���� 	������ ��	�� 4�� =����	5>� �5��� ��� 	�� 
���7�� 0��� ���� ����� ������� �����

�����3�������������	����1��������������������������������
����=����>�������	����������0�������

�����������������
����	��������������������������	����������������	��1�(����	�3���5�����

��B����	��� �� �����
�������� 	�� �� ����	5����� 5�����	5��	��� 5����A�� ���� ���� �� ����	5�����

�������4	���������������,�
,�����������
���������������0����������71���������5����A���������

����� 0�� ������	��� ����� 0����� ������	���� ���� �����	��� ����� 	�� ���� �� ������ ���� 0����	5���

�	5�	������0��������1���������(����	��
����������#��������1���������#����
3��)��������������

�#�� ��
����� ��� ���� ����5�*�5�1� ������ ����� �������� 	�� ��������	��� ��� ��������� ����

�	��	�5�	�����	������������	��1�@��	����������������������������������������������������
�	5��

���� ������� ������ 	�� �0�����5�1� ����� ���� ����� �������� ����� ��	�6��� ���� ��� ��� 5����� ����

��
�� ���� ��0���	��	��� ���	�� ����1� ���� ���� ����6� 	�� 0��� �� 5���������� ������ 0��61� ����

0���5����������������������������0����	����
	������	���������������������������������0�	����

�	���������������(����	�������0����
	�������G������	������	���1��



�

E����F�=����������	��	���
�������
���>�,�

-+�


�����0������������	��9�����	�6����������	����������	������
�������������������������

�5�� ��� ����	�	��� ��� ���� ������� 0�� ������5���� 	�� �� �	�	������������ ����� 	��� ����	��� ���

5�����	5��	��� 5����A�� ��������5����� ����
��6����5����	���	��� �������������	�������5�1�

���� 5����	���	��� ��� �� ����5�� �5��� ������ 5������ 0�� 
������ ���������� ����� ���� 
�����

���������������������	�����	������������������
������������	�1��	6���������5������������

��������������������	��������	������	���4����	0������
�����7���� �����������5����A�������	���


��6� 
������� 
�� �	�� ���� 	�� ��� ����� 5����5���� ����	5�� 	�� ��� ���1�  ��� �	���� �������� ���

����	�����������5���������������	����������� ����������	��������������������	�1�������	�����

����0���������������6��3��	�5�������5�����	������5��4�1�1����6	�����
������������	���

�0����
�����	��	���=���������>���B�	��������
���� 	�� �������517������������	����������6���


	����	����������	��������������������	����������	��������	�������A��5�1������	��0�5���������

	����������	���������������������������������1��������5�����	����0����������
	��	������

���������	�������������������	���������5��������������	������1�������5��	��������������	��

�������������������	�������1���������������	��������	���	���5�	�	����������5������������

����� 5����A�� ���� 5������	����� ���� ����� 
���� 	�� ����� �������� ��� ������ ��������� ��� ��

�����������	��������	5��������5�����	�����	����4���	���������0���	������5���	���������	��7��

	�� 	�� ���� ���5���� ��� ���� 	����������	��� ������������� 	�� ��5	��� 	�����5�	����� 
�������� ����

�5������ �	����	5��� 	�����	���� 
���1� 8�����	5��	��� ����� ��6��� ��� �� �	��� ��� 	��� �
�1�

���������� ���� ����5�� �5�� 	�����5��� 
	��� 	��� ������	��� ���	��� 4
�	5�� 	�� ���� ���������

=5����A�>� 	�� ���� 5���� ��� ���������	���7� ��� �����5�� �� ������	��� ��5�� 4��5�� ��� ���

�0�	���	��7�����������*��*����	��������������55���	������@������	�������	5��1�������������	��

����������� 	��
�	5�� ����5��������
�����������������5���5��1��������	��������5�������

�

����� !�"��3���3.�)	56�����
	��������	���S��	������������
��B�	����55��������5���������	��

�	���3� �������	��� 	�� ���� ��
� ��� 5�����5���� ����� �� ��0J�5�	��� =����	��� ��� ���� �	���>�

���	����	��	5���5��	���������	����������	����=�0J�5�	��>����1
+D
���	�����������������������	���

��� ��5�����5��
�������������0J�5�� ������ 	�B�	������������� ������� **�=���	������ 	������ ���

�������������������������������������������������

+D
� (��� 8� )	56����� �#�� "���#������ "
,�
�� �)� �#�� "��3���3� '����� 8�������P�@�����

��������/D+<1�



�

E����F�=����������	��	���
�������
���>�,�

-K�

����	��>���������������**�0����������5������	�����	����������	����������
���������������	����

������	���	������	���	���	��	5����������5��1��

&��������	�����������������������������	������5�����5��1�8���	����)	56���3���������

��1��	56
	56������������	������������������
��	���������������������5�����������0����1�


�� ��5���� ����� 	�� 
��� 0������� 0�� ���� ��������� 
	��
� ���1� �������� ���� 0���5�� ��� ���

������������	����������	���1�(�5����� 	�����	���������5���������1��	56
	563���	��������

���� ���	��� =�0J�5�	��>���5��	������5�����5�� ������	������������� ����� ������ ��6�
������� 	��

���1�������������1��	56
	563��5����5��	�������5��������1���������
����������������������

5����	������ �� ������ �0�	���	��� ���� �	�� ��� ���� ���� ����ℑ/�-..� 	�� �������� ����� ��� ������

�	�����	���
	���4�������	�������������������������������������������	5	����������	������	����

������1�)����������&���71���	���5��
���
	��	�������5��������������
����J��	��	5�	������1�

�	56
	563��0����	���4����	��5����5��5����0��5������=�5�	��>7�5���������
�
������������5�����

��� �5�� ���� 
��� 	�� �	��� �� =5��	�>1� )	56���3� ���5���� �55�������� ���5�	0��� ����� 
�	5�� 	��

�	�5����� ���� �0J�5�	��� ������� ��� 5�����5�� ������	���� �55���	��� ��� 
�	5�� ���� �	������

B����	���
���
����������1� �������� 
��� ���	����� ��� 	�����������1� �	56
	563�� �5�	���� ���

5����	���	��� �� ����	��� �������	�����
�	5�� ������ ���� 5	�5������5��� ��� ����� ��������� 	��

5�����	����������������0������5���1�

��� ����������	�����	���������������������������� ������
��� ���5������5����	�� ���������

������ **� �0�	���	���� ���� �	������ ��51� 4����� 	��
��� 5�����5����
	����� ������ ��51� ���� ��������

5����	�	���������������=��	�������
>�**�����0�5����������������	��	�5�	�����
	���	��	�	�������

0���0�5��������	�����������	������	�5������������������������������5�������������������������

����0�����������	�	�������
��#�
��*����5����������	������������	�	�����	�������5�����������

=��0�	5���
>�0���71��������0��	������5������#���
�����������	���
	����������������(�����


	������	��������
���������8SG��������5������	���������5�	������N	�5�������������1���	���

�� 5���������	��� ������� ��� �������� ���� �	����	��� ���� 5��5������ ����� 	�� ����� 
��� ���

	���0	��� �� ���	�	��� ����� ���0���� �	�� ��� 5������ �������� �������3� ������	��� ��	������� **�

���	������������������	��������	�������5��������	��������	�����**����������������������������

,���
1�&���������	�������	���0��������	���������	����
���������������5	�������=�	���>����

	�������5����	����	�����5��5���	���������0J�5��
�������
�0��������	�������������	����������



�

E����F�=����������	��	���
�������
���>�,�

-��

�5�1�#��������5	�������	����
�������5���������	��	���������5���	�	��������	��0���A�	0	����

�������������	������������5���E�8"������0����(�������������E�
	������������������	�����

�����0�	���	���� ������	�����������0������������	�	��� ��� �����0J�5��� �����5������������� ���

��	�������	��1�����������	��������	�������0����(��������������������55���������	����
�������

5���	�	����� ��� ����� ���� ����� �A��5	��� 
���� 
�� ���� ����� 4�����
	��� ���� ������ �����	���


������@������7����	����	��������#�3����
�������	�	��1
+;
���������������������������0���

	������5�*��������5�������	������
�	5��	��0���������������	��
�	5���������������������
	���

����� ����� ��� ���� ������� ����� ���� ��5��� ���� #�� 
	��� 6���� ���� ����	�	��� �
�� ������� ���

��5	�������	0����	������?����������1�@�
������
�������������5������������������
	������	��


	�����������1�����������������������������������5�	����	��,�
)�
���	�1����������	��������

������������������	5������	5�������	���������	�������������������	��������5�	��1�������������

4�������������7� �������������5�	0������	��� 45�1� ���������������	����������	��7�**����������

J����������	��������������������	����������������	5���������	�����	����������������������

	���0	�	��� ���	�	���� ��� ��
���� ��� �5�� 45�1� ���� ������	5��� �����	��7?� �������� 	�� ��	���	���

����������������	��1����0�����5	����	��
	���5����	���������	�	�����������5	�	5������������������

���� ��5	��*������	��� ��	�����1� ��� 
	��� ������� ��� ���� ���� 5����	��� ��� ������ 4���� ������ ����

������	5��� �����	���� ��� 	�� ��������� ���������� ��� �� 
���5��56�� 	�� �������0��7� ���� ����

������	�����	������	�������5��������������������	���������������
���5��56�1�

����	�	���	���4
�	5��	�������A�����	���������������5�	5���0����������������������A������

�����������	�7����
��������������������	5�������������	�����
����	���������������5�	0���

�0���1���������	���������������������������	������5�	������������������������J����������

J��	����
������� 	��
	��	�� ���� 5����A�� ��� 	���	���	�������
��1����	�� ��������� 5������� ����

����6��� ������	��� ��5��1� 
�	��� ����� ��	���� ����� ������� ��� ������� ������� 	�� 5�������

�����������
��*�
��������������	���	���	������J��	5	������J������5	�	��1�����������	�5���������

�������������������������������������������������

+;
� (��� 
������ �� @�������� 2&����������� ������ 8��5���	���� "�� "���	��� 	�� $��	5	���

%�����	��3��-:��
�����	�4/;/<7�</.?����	������	�	����
������0�	�����	��0��6�����1�����

"���	5��� ��
� ����	����� 0����� ���� 5��5������� ������� ��� ���� %����������� ��� ���������

4/;+:7����@������T��5��5���	��������������?�����OO�/*K1�



�

E����F�=����������	��	���
�������
���>�,�

-:�

5�6���������
�������������������������	5��������	������������������	�������J����������J��	���

��� ������ ���	�� 	���	���	������*��������� ���������	��� ��������� 	�� �55�����5�� 
	��� ����

	�����������������������1���	��	���������������5���������	5������0�5�������
���������������

��������������	�����
���������J���������������J��	���0��������������������������������

	�����5�� J��	������
�	������� ���	������	�������	��5���4
�	5������5���	���������������������

J�����71
K.
���������� 	�� ����� ��	�� ���0�������)�������
��� 	�� ��5���������	���� 	������������

����	�������A	����������	������������	���������������5������	�������	����
����������	����
��

����5����� 4�� ������ �������� =�����������	5>� 0�� ���� �	���	��� ���� �����������	����	5�����

(	�������	�71
K/
�

$��	�����������������5����A������5�����
���������������6���������������(��5	���N���	5��

��� �� '������� N���	5�� "55�����	��� 0�� "��
��� ��� ������������	��1
K-
� ��� ���� ������� 5����

J��	���������B�	�������=�����������������5	�������	5��	�������������������5	���
�	������	��	���

�������5��	����������5�1>���������������5������� ����5����� 	��������0�	���
�	�����B���	������

�������� ��� ��5��� ���� =�	��5�H�I� ���� J���� 0���� ��� ��6�� 
�	����� ���
���� ���� ��� ������� ��

������������	5�>1�@�
������	��	���������������5���	������������	5��������	5�������������	���

�������������������������������������������������

K.� ��� ����!("� J��	�����������������5�� ��A���� ��5�����
���� �����������6��� ��� ���������

(��5	���N���	5�������'�������N���	5��"55�����	���0��"��
������������������	����&%8��

%K;4�7�����%K;407�� �����5�	����1� ��� ����5�������(��5	���N���	5��� J��	������� ��B�	�������

=�����������������5	�������	5��	�������������������5	���
�	������	��	����������5��	��������

��5�1>� ��� ���� 5���� ��� '������� N���	5�� "55�����	��� 0��"��
��� ��� ������������	��� ����

5����� 	������ ��0�	���
�	����� B���	��� ����������� ��� ��5��� ���� =�	��5�H�I� ���� J���� 0���� ���

��6�� 
�	����� ���
���� ���� ��� ������� �� �������� ����	5�>1� @�
������ 	�� 	�� ���������� ���

5���	���� ��������	5��������	5�������������	��������������
������
�����������������	�����

����������	5����0�5�����	��5�����
������������
�������������	��
	�����������	5��C�	1�1�����

����	5���0�	��������������������
����������J���3���
�����������������5��C��������
����

����5���������������	5��4��������������������5���	����������������������71�

K/
�(����	5�����(	�������	���2�����������	5��	�5���������������������	5����5�	��3��	��$�

"� ��5�� 4��17���)��1� �� �
���
��4���,�
���� �,���#� 
���%��
,

��
������ 8��0�	����

!�	����	����������8��0�	������/;;+����++1�



�

E����F�=����������	��	���
�������
���>�,�

-<�

���� ���� ���
��� ��� 
������ �����������	����� ���� ������	5���� 0�5����� 	�� 5����� 
����� ����

���
�������������	��
	�����������	5��C�	1�1���������	5���0�	��������������������
����������

J���3���
��������������� ��5��C� �������
��������5������� ��������	5�� 4��� �������� ���������

5���	����������������������71�

���	�����������	�	��������	��5�����*��
�5���������������5�������	����5��������������5��

�������������
�����0����5��5��5�������=��
>����	�����������������5��������5�	5����������

5������ ���� ������ ������ 	���	���	���1� ��	�� ������5��� ����� ������ ������ ���� �������� ����	���

=������ ����	��>� 4	�� 	������������5�	������ ������ ����	�������� �����A5���	������7� 	����������

��	���0����������������0�� �	����
�������@��������55���	������
��������=��
>�	��������

5����������������������0����������	�������������������
��������5���������������	��1
K+
�����

��
������ 
��� ��
���� �����5���� 	�� ���� �������� 0��	����� ��	��� ���� 	�� ��� ���	�� 0��	����� ���

�������������5������**�
#���
��
��*�**�����5��**�,�
)�
�
�� ��*�**�	����������������0������

����	�����������������������1� ��5������������������������������	5���������4����������	��7����

5�����������0�	������������5�	���������	5�����������6���������������	���������5��**������	��

0�����	������	�����������������	�����0����������
�=���	��>����=0�	��>���*���*�������������

��	���5��=���
�>���5�*���*��5�����51������ 	�������������
�������������	5��	��	������
����

���� ���� �������������� 0���
���������5�	����0�� ���	��� 	�1����� ��
����3� 	������5����� ����

������	�����	������5�
���
��������	5�����	��	��5��**�����������������	�������������������

��� ���� 	���	���	������ ���������	��� ��
���� 
��� ���� ���� 5�����1� ���	�� 
��6� 	�� ��	����

������	5��������	����	�������������	������������5	��������	���1��

"� �5�����	5� ����	�	��� ��� ���� ��
���3�� �	�
� ��� ������ �	���	��	5� 	�����5�	���� 5��� 0��

���������������
KK
�

�������������������������������������������������������������������������������������������������������������������������������������������������

K-
�(���&%8��%K;4�7�����%K;407�������5�	����1�

K+�(��� �
�@��������#��'�������
����	���������
��P�8����������������/DD/1�

KK
� ��	�� =�5����>� ����� ���� ������5�� �� �	�������� B����	���� �������� ���� ������� ��� ����

5�����������	���0��
����������	5�������5�5������J��	5	������������5�1����J��	�������5���

����� B����	��� 
��� ������ 
	��� ��� ����� �A����� 0�� ���� �5����� 6��
�� ��� =(5���	���	���

������%���	��>1�(���M� �	��5������2�������������������%���	��3��	��#���
����4��17��



�

E����F�=����������	��	���
�������
���>�,�

-D�

�

�
���
���

�

�

�

N�1��
@#���"�'!"'#� �(8!%#(�)�(���8�� �(���"
����( 8�"��"�)�

(!�#%�"�!%"��8 ��#R�(�

������� 5��5���	��� �� 
	��� ��� �A��	��� �������� ������� ������5���� ���	��� ����

���������	�����������������������������������5��5��������������5�	5���	��	���	��	���
���1�

&�����	���������������'����	��/��
��������������������������	������5����	����������
�����	��

������0	��������5	���	�����������5��	�����������������������
���0�56����������	�	�������������

���	5����5�����5����	���C�����������6	���0�	������������	�������������������������5�1��

="���'��� ��	�� ���� ������0�� �	���� ���� ������
��� �	���>��
�����A�5�����	�� ����0	0�	5���

'������
��������������5����	���	����������������	5���)�
�9
K�
�@�
�
���	������	0��������	��

�������������������������������������������������������������������������������������������������������������������������������������������������

/��
*�����	�
��,
����������2���
��)��������"��������00�*���	������
�E��6��/;:-����

/�/1� ������������� ��	�� ����	��� �� ������������ �	������ 
���� 5���	�5��� ������9� &��� ��

��
������������	���������5���������B����	�������������	���������$�56������
�.�-
���
���

�



�� ��'�#�
������)�0�����8���������0�	5��	������������	���!M��/;DD1�(��������8�

%�����"
�,�
�*�
���"�
��
������
����	�
�����������������/;;K1��

K�
� ���� �	0�	5��� 5����	��� ��� �	���� 	�� ������ 	�� ���� ����������� ��	B���� ������ ������ ���

5����	��1������	0�	5������������������������#
,����
��������������������������������

�A	����5���0����
�
�����1�������1�(������	�������
�������������������
������������������

(���6���************U
#���
��
�����	�����	��V***********→�@�����F"�����*********→"5�	���

�

�	�	����F��
����

4����	��J����

��	�����J����7���51�

	�������	��	�����	����������6���

����
�,
�����
������������5����

��������5��	��������������������

��51�

J������J�����

����	�������

���5����������51�

,�
)�
�
�� ��	��

�����5�������

������	��F�

	���	���	��������	��

�

�

�

�



�

E����F�=����������	��	���
�������
���>�,�

-;�

���������
���������	������	����������5����	���������#�9��������������
���������	�����������


����=�	���>� ��� ������ �������� ���������������5���	��������������	����	5�����������0��������

�����������������	5��� 	�����	0	�	��9�"���
����	��'���5��������������������������������

�	�����	��������	�����������5��������
�����0�9�
����	��3�����J���������	�9�"���
����5���

0�������������5�������	�����	5���������	������5��5���	������5������������*�	�������	���	��	5�

���������5�������������5�	5�������	����	�	���	��������	���5�����5����������	���������
�	�	���

��	����A�9��

��� ���� �	0�	5��� 5����	��� ������	��� ���� ���������	��� �����	��� 	�� ��������� ��� 0���6�

��
�� �����	��	�5�	��� **���	���	�����0�������5��5	��� **�0��
���� ����=�������>�
���������

���� ��5	���� ������	��� ���1� ��� ����� �� ���	�	�	��� ��� ����	5��� �5�	���� ���� �0	�	��� ��� 0����

�	��	�5�	����0������������������	�����������9� �������GG���������������������	����='���

��	�>� **� 
��� ���� ��� ��� �5������� ,
�������� ���� 
����9� 
���� ����� ���� ���	5����	��� ���

��������	����������	5�����������	�������
	��9�
���
�����������������������������������9�

"����������
���� ����5������� ������� �����������
��������� ������	���4��5�����5����	�����

����7�������
*����������	���4��5��������6	����0����	��������	�����	�����������������	�71��

����
�����5��������������0����5�������0������	5���������0�5���������	5������	����

4��5��������5������ �	��7���������	5���������4��5����������������������7�������������� ����


���������� ������0�����	�	�	����	�������A	�����	��� ���5����	��1�="��� ��	����
���������0��

�	�?�����
	�������	��
�������������	�������������
�������>�4$����/�-71�#A	����5��������


���**�'����A	�����C�0������
����������*��������	5	������������0������������=�	������	��>��

���� ��� �� ���������� ����	5�0��� ��	�5	���1�@	��
��� ��� �5�� ��� ���	5��� 5����	�	���� ��� �	�� ����

)�
������
�������������*�A	��	���������������������#����������������������4�1�1�����'���6�

������������������7�0����
�
����	����������������#�������������@	���
���A	����5�1������	��

�������	5�������5������	0�	5���5����	������������������������	��5������5��5�	���������������

�������������������5�����
	�������5����	��1�

�������������������������������������������������������������������������������������������������������������������������������������������������

��������������5���5��4��������/�:�<7��0���������������������
�����
�����������������	����

�������������1�(����	�5���	���0���
1�



�

E����F�=����������	��	���
�������
���>�,�

+.�

"����������GG��������5��5���	��������������� �����������������������	�����55���	������

�����	0�	5���������	���� ���� ������������5����	����A	�������	��� ���5����	��1�=����
���>�**�

�����	�	�����	�5	���������� 	�5���������55���	����������8��	��	���������	��
K:
�**�
�����������

����� ��	��� ����� �A	����� =	�� ����0��	��	���>� ��� ����
������� 5��5���� =�	���>����5����� ����

����������� 4��
������ �	��3�� �����	0�	5���'���5������ ���� 5��5����� ���
���971������ ����


����=�	���>�5��������������0�����55�����������0�������	���
�������������0��������������

�������5��������55���	���������	5���5����	���	��5������������������������	�����**�0�5��������

���� ��� 5��5����� 5��� 0�� ��	�� ��� =�A	��>� ����� ���� 
���� ���� ���� 5������1� 4������	��� ����

���
���� ��� ���� ��������	��	5�����C� ���������������A	����5����� ���� 	����� 	����������� �����

�	�	������������5����	��71�(������3��
�� ��������� ����������	�����=���� ��������� �	���>9�

"�����
	������������������ ���6��0���� ���������
����
�����	G�� ����� ��	�� 	����������GG���

����� 5��5����� �����������	��� 0��� ���������	�	��1� ���� �	���	��	5� ���������5�� 5������� ����

�����*1�
����'���=��	�>�4�	51�=����������0���	���>7�@���	������=���6>�**�����������	�������

	������������	5����	���**�@��
����1����
����������������5�����5����	����������������������5��

��������������	���������	��������	�����������	��������5�*�5��������������1K<�

�������������������������������������������������

K:�(���	�#��/�/��/�/K�

K<
�"�������	����
�����������������������0��������������5��**����������	���0��
����
�����

��� ����������������������
�����������������������	��=���������>�**����0��������	���	��	5�

��	����������������0�5������������	��������0���������	������	5����	�5�����1�@�
������

�����5��������������5���	������0������������	���	�	���1�������������=������	���
�����
��>�

��� =���� 6	��� ��� &���5�>� 5��������� ����� ��� ����������� 0��� ����� ���� ���� ����	��������

0�5����� 
�� ����������� ���	�� ������ ����� 	�� 
�� 5������ ��	��� ��� �� ��	��0��� ��������� ���

�55�������������5������	����4������)���������0�����1�-.������//:71�"����0���� ����

���������	��� �����	��� ������� ���	����� 	�� ����������	��� �������5�� ��� 
����� ����

��	���������(����M�	�6��4�����@	�������������������1&1�(���
����0����������7������������

��	��� ����������	����������������	���0��
������=����>*
����������5���������������������

����B����	��������
�����5����5�	�������0��������0�	��������������5�������5����	������	��**�

�� ���������5�� ����� ������	���� �����������	���� 	������� ��� ���� �����	��1� (��� (� M�	�6���

�
�����
�����������*.�@�������!�	����	����������8��0�	���������1��/;<-1�



�

E����F�=����������	��	���
�������
���>�,�

+/�

�����	��������	��������	0�	5���������	������	����
����������B�	�����������������	5�����

���� ���������	��� �����	������ ���������� ��0�	�� ����	��� ����� ��� �	�������� ������� ����� ����

��5	��*������	�������
��������������5	����	��
	��1��

'��������������������������0����	�����	���	��	�5�	�������������������5��������

��
����

������+"#�����,#����1� @������ ���5�	5������	5� ����� �	���� 	������	��� 4���� ��	��� ��7?�

���������	��
�������	5�	���0������	���	��	5����	�����	�������������5������������������������

��5	��*������	��� ����1� &��� �� ������ 
�	���� ���� ��� ����� ������ 
	��� ���� ����� ��� ���	5� ���

���	�����	��� ��� ��
��� ��� ��	�� ����	��� 4����� 	��� ���� ��� ������� �������	�	��� ����5	0��� ���

���5�����	5����A������	���71�8����	�����
��������������������A���������	��������	�
������

���	����	G��
�������������������������������	5������5�	5��1�
���A���	�������	�����������

���5����������5	����������	�	5����5����	5����	������������������1��

���������	��� ��5	��� ���5�	5��� 	�� ��	56�� **� ���� ���	5� 	�� �� ��5	��� ���5�	5��� ����� 	�� 	��

������������	����������������������������������5���	������������5�������������	������������

���������� ����������� ��� ��5	��1� ���� 	����������	��� ��� ��5	��� ���5�	5��� �	������ �����

����������	�����������������������	����	�������
������������������������������	��������

	�� �������� 	����������� 0�� ���� ���5�	�	������ ����������� 4��	�� 	�� �� ��	��� ����� 0�� ����

��	��������� $W�����@�0�����71���	�������3������� �����
��������55���� ���	���	�
���0���


�����������	G����������	��	����������	���	�������������������������
���A��	��1��

 �� ���� �	�	��� ������� ��� ������ M	�	�	�J���� 	�� M����� �	���� ���� 8������ ���	��1� ����

�����������	���(�����&��6���������5��������
��
������8����������������6��J���	5�������

�������� 4��5�� ��� 5��������	��� ���� ��� 	�J���� ��� ���� ������� ��� ��� �0J�5�� ��� 5���������

�
�����	�7� ����������� �����M�����	� 5	�	�� 5��������� ����� ��5���5�	��3��5������0�������5���

����� ������� 	�� �� ����*�A�5��	��� ���5������� 
�	5�� 5���	���� 	�� 5���	��� �� �	����	��	5�

�����	5�	�����������������	��1�����5�����	��5���	�	������	��
	�����6������5�������������������

��������������������
��������������5�����	��	5����1������	���	��	5���������5���	������������

���5���	����������	�	��� ���������� ����
������	��1� ��� ����5�������������������0����������


	��� 0�� 	������ ��� ���� ��	�	��3� ���������5��� ���� 5����� ���� 5���� ����� ���� ���� 5����1� ���

��
����� ���� ����� 5���	���� �������� ��0J�5�� ��� ���� �����	5�	��� ���� 
	��� ����� ���0�0���



�

E����F�=����������	��	���
�������
���>�,�

+-�

5����5�����������	5��������������	�����������������������5����1��������5�	5�����������	�	5���

�	����	��� ����� �	��	��� ��5������ 	�� ���	5� ���� �����	�	��� ����� ����	��� ��� ���

	���	���	����	G��� 5����� 	�� ����� ��� �����5������ ��� ���3�� ��������� ���� ��������� ��
����

����� ��� �5�� ��� ���	��5�� ���� �����	���� ���	����5�� �	��5���� ��� 	���	���	����	G��� ��
��1�

"����� ���� 8������ 4��������� ���� �����
����� 
����� ���	5��� ���5�	5��� ���� ����� ����

�	�������������	��7������������5��	�������������������	���	����������	5�	��1��������������

	���	����	��	5��0���������5�0��������	��������5����A���	������������	���������������5���������

������ 	�� 5���0��� ��� �������	��� 	�� 4��� 5������� ��� �	�������� ������� ��� ����	��0	�	��71� ���

=�������	����>�5�������5��	����5��������������������
���������	��������B�	���1�

���� ��������� ��	��� ���� ���� �	�5���	��� 	�� ����	G	��� ���� 5������	��� ��� ���������	��� ����

������	5������5�	����	��=�����>������	5�	��1�����������	5��������	���	���0�����4�55���	���

��� ���� 	�������� ��	��� ��� �	�
7�� 0�5����� ���� =���	��	��>�� ��� ��� ����6�� �����3�� ����� ���

��������� ���������� �������	��� ������� 5���1�@��� �������	���� 	�� 	�� ���������6��
���������

���������	���5��5��4��	������0������������	�6�������	����������	������	������71���������������

�� ������� ������	5������������5������ 	��	�	�����������	������������ ���5���	���� �����	�6��

���� 	�� ��6	���0�����������	�	��?� 	������0�� 	������������ 	�������	��	��������5������	��1�

%����������	����	�������� ��6�����0�56���������������5	�����	���5��
�	����������	��� ����

��	�	��� 	������5��������0�5��������	6��J������������������	�5	��������
	��������������0��

�������������5��	�1�

�

N��1�� 8 �8�!(� ����"
�"�)��"�'!"'#��"��#'�����'�

����5���������	���	�5���	���	������������	�����	������4���
�	5����
������������	�5������

���� ��0����71� ��	�� ������ ����� ��� ���� ��� ��	�� �	�5���	��� 	�� 5��5������ ������	�	��� 	�� ����

���������������������	�����5	0�������	����������������	���	��	5�5������5�	���1��������������

������ �� �	������� 5��	�� ��� �� 5����	���0J�5��� ����� 	�� 	������ 	�� �� ��5�� ��� ����5���������5�����

�����	���������0����������0J�5��C������	���A	����������	��	��������������5	�5������5����A	��������

�����������
������������� ����A��5	�������
	��� 	���55�����5��
	��������A��������� �����	����

���� ������� ��51�%	����� ���� 	������0J�5�	��� ��5��� C� ����� ������� ��� �	�5������ ���� �������



�

E����F�=����������	��	���
�������
���>�,�

++�

����� 	�� C� 0��� ����� 	�� ���	�� �������5�
� ������	��� ��5���� ���� �� ����5�	��� 5�	�	B��� ��� ���	��

������������	5��� ������1� �������������� �� ������ �55���� ����� 5�����	5��	��� �������	� ����

�	���	��	5�	�����5�	����40�������5��5�	���7������������	5����	�����������������������5�	����	��

����������	�����	������	��������������	����
�	������	5����1�@�
�	����	������	0��9�@�
�5���

��������� 0�� �������	��� ��������
�	5�� ���������� ����� ���� ���� ����5	0��� ��� �	���	��	5�

����������5����	�������������	�������9� 0�	�������������� ������ 	������0J�5�	��� ����������

���������	��� ���������� ������ ����� ���� 5���	���� ��� ��������� ����5�� �5�� �������� ����

�������������5��5����C������J�5���������0���������6��1KD��

"���	�� �������	5��� 5��	�� ��������� 	�� ��	�� ���	5��� 	�� ����� ���� �����	���� ��� ���������

�A��	���� ���� ����5��� ��� ��������3�������)�������
���*�� ���� ����� �55���	��� ��� ���� �������

����5�� �5���
��6� 	�� ��������5�� ��� ���� ��5	��� 5����A�� ��� ���	�� 	�5���	����
�	5�� 	�� �����

5����	���	���������	����
�
�� ��*1������	�����������������5��	������������������������	������

�����������������6��	�������	������	���������5�	�����������G��
�����	���	��	5�,�
)�
�
����

�A�5���������	��������5����A����5��5������	�����������A5���	���������	��������������5����

��� �	���	��	5� ��
����1� ���� B����	��� ���������� ����� 
���� 	�� 
���� ������ ������	5����

���������	���� ���� �����������	����� �	���	��	5� �5��� ���� �	��	�5��� ���� ���������	5����� 0���

���5�	�������� 	1�1�� ��
�����	������ ������ ��������*��������� �������� 	�� �	��������������

�������������������������5��5������0������	0���������	���������	��	�5�	����	���	��	5���	���

������C�
��������5���5�������������*5������=���������	5������	�������	����>1�

�

��	�� ������ �����
��� �� ������������	5��� ������5��� �55���	��� ��� 
�	5�� �	���	��	5�

�����	��������������������*����5	0��1���������	���������������������
��	���������������	���C�

�1�1���������������������	�	���	�������������	����	���40���������	���������7����	��������	5�

40��������	������������	���7�**��������0����0�������0������������0�5������������������������

0���0�5����� �������������������	��������B����	�����������=
����	��	���0���� ��������������

�������������������������������������������������

KD�"������	���	������	����	��$��������E�������#���
���
�����#�����
�4�
����5��
*��)�

�����������"�
)�
�
�� ��*�������
��'����1���($)�)	�������	���������
�������!�	����	���



�

E����F�=����������	��	���
�������
���>�,�

+K�

����
������ ���������5�	����������	���� ���
��69>1
K;
�������0����������5��������� ���������


	��� ����� 5������ ����
���� �	�������� ����� ��� �	������� ���� �A������� ��� �	�5���1� ��	��

��������6���������������5��	���������
���������������5����	5���5�����������������������

��� ��5	��� ��������� ���1� ��� ����� �	�5���	���� ��� ��������� ��� �������� ������ �	���	��	5�

�����	���� ��� ����5��� ��� ��������3�� �����)�������
���*�� 
	��� �������� ����� ��	��	��� ���

���������	�	���
���� ��5	��� �5�	��� 	�� 5���	�����1
�.
�
�� ��
� ����� 0�� =���������	�	��>�
��

�����������	����	��	�5������������5��	������	��������	���	���������5�������������	5������

������� ����� ���������	�	��� 	�� 	��	������� 5����5���� 
	��� ������	��� ���	�� ���� 
	���

	����������	���������
��������0��	������	����������	���	�����������������	�����4�1�1�������5��

���������	����1�	���5������71�����������	��	�	5��������������	�����������	����0���	�����	����

��� ���� 
	��� ���� ���?� ���� �	6�� ���� 	�����	����� �5�	��� ��������� ��������� 	�� ���� 
����� 	��

��������������������������5��5����
	�������	�����	�������
	������	�������6���1�#��������

���	������� �	0�	5��� '��� �	�� ���� 5������ �� 
����� ������� 0�� 
	��	��� 	��� ���� ��������� ���

����5���5��1�"��������	����	��
�����������	���	��	�����**����@��	������1�

�������������������������������������������������������������������������������������������������������������������������������������������������

(5����������
��8�	5�����/;;<1��

K;� �� �������� ����� B����	��� ������	��� 	�� $�������� E������ 2
���� 	�� 8�����5�� ��
�

="0���>9�(���5��"5���������������8�	�	B������=(6�����������	���>3��;K���
�#�����
��

(������ �4-...7�;+<1����5�	����������������	�����	����	������������������3����
����
�1�

�.
� ��
����� 	�� 	�� ������� ����� ������ ����5��� ���� �A5���	��� **� ���� 	�����5��� ����� ��� ����

	�5�������������	�������5��������������A���	������	5������$�6�0����J���	�	�0�����������

�����������������������������1�������	�������������
	�������	5��	������
����J���	�	���0��

����
	������5����������������������������	����	�
��������������	����5	����5�	��1��


